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Part1(60 marks)

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2; 3 or 4). Shade the correct oval (1, 2, 3 and 4) on the:
Optical Answer Sheet.
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One of the functions of. the brain is to control the activities in the body. The
diagram below shows a type of cell.
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Which of these cell structures has a similar function as that of the brain?

(1) A @ C
(3)B (4D

The pictures below show a rose plant and a rabbit.

Which of the following statements are true?

A: The cells in both organisms undergo cell division.

B: The cells in both organisms have the same size and shape. .

C: The cells in both organisms have a nucleus, cytoplasm and cellr, mbrane..

D: The cells in a rabbit contain genetic information while the cells in ¢ ~~se plant
do not.

(1) A'and B only o (2) Aand C only -
(3) B, C.and D-only (4)A,Cand D only
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3 The diagram belaw shows the human circulatory system.

HEAD >
Z w
: HEART
Y X
I FGS "

. Which arrow(s) show(s) the flow of blood that is rich in oxyéen?

. () Xonly_
(3) Y and Z only

{2) Wand X only
AW, X, Y and Z

-4 30 pupils entered an enclosed room with no windows or openings.
Which of the following correctly shows the change in the amount of gases
present in the room after some time?

1)
(2)
(3)

@)

| Oxygeh ' Carhon dioxide Water Vapour
Increase Decrease | Decrease
Decrease Increase |- Decrease
Increase Decrease _ Increase

‘Decrease Increase Increase

- transport system correctly?

o

@
3)
@

Which one of the followings shows the drfference between the human and plant

Human Transport System

* Plant Transport System

lnvo!ves a network of tubes

Does not involve a network of tubes

Does not circulate continuously

| circulates continuously

Involves a pumping action

Does not involve a pumping action’

Carries food, water and air only

Carries fo_od , water, air and mineral salfs only




Study the human digestive system shown below.
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Which of the following correctly describes what happens at organs P, Q, R and S?

{1
(2

(3)

@

Digestion takes | Water is ébsorbed Food is absorbed info"the
place here into the bloodstream
blocdstream -
P, QR S R
QR P R .
P,R,S S Q
Q P

R, S
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7 The diagram below shows how three human systems, D, E and F work

together.
oxygen carbon
! 1 dioxide
food :_
System F
R
digested oxygen :-  carbon
food . ‘:r i dioxide
System D > System E
1
digested | ogjgen | cammon
i t dioxide
Y v 4
All parts of the body

Which are the systems represented by D, E and F?

: D i - E - L F_
(1) | Circulatory System | Digestive System | Respiratory System
(2) _Digestive System | Respiratory System | Circulatory System
(3) | Respiratory System | Circulatory System | Digestive System
@ Digestive System | Circulatory System | Respiratory System

.8 A plant’s roots ‘are damaged. Which of the foliowmg functlon(s) cannot be
=~ performed? - .

"A: Absorbing sunfight
- B: Taking in water and. mineral saits
..C: Holding the plant firmly to the ground

(1 Conly - (2) A and B only
(3) B and C only (A, BandC
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Carot used a microscope and observed the underside of a leaf as shown below.

What is the function of opening Z7

(1) It allows the plant to make food.

(2) It takes-in water needed to make food. |
(3) It transports the food made by the leaf to all parts of the plant.
(4) 1t allows the plant o take in oxygen and give out carbon dioxide.

Study the flowchart below.
Parts of a plant
X . ‘
Does it help the plant to absorb water? Yes p
No |
. - h 4 Yes
Does it help the plant to transport mineral salts? |——» q
No
Does it help the plant to make food? Yes R :
Which of the following correctly identifies P, Q-and R?
P Q R
(1) Roots ___ leaves Food-carrying tubes
2) Roots Water-carrying tubes ' Leaves
(3) | Water-carrying tubes | Food-carrying tubes Leaves
(4) Roots _ Food-carrying tubes Leaves
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11 Which one of the following diagrams shows a populaf’ n?

(3) ‘ 4)

12  James wanted to test.the effect __ch overcrowding on the growth of plants. He
conducted the experiment using idenfical pots A and B. The table below shows
.. some coriditions for the experiment.

P._pt' -| Number of seedlings | Amount of water (ml) | Amount of soil {g)

A N Y Z
B _ X 10 450

“ Which 6f the following best represent X, Y and Z?7

X Y _ Z
I 4 7 B 450
@ [ 4 10 300
(3) 16 7 |7 300
{4 16 10 450
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13  Study the food chain below.

J—+K —L—>M

Which of the following .. correctly- describes the food relatlonshlps of the
organisms in the food chain above?

d , K L ' M

(M Prey Predator. Prey and Predator Producer
(2 Prey Predator . - Producer - _ Predator
(3) | Producer- | Prey Prey and Predator T Predator
(4) | Producer. - Prey and predator Prey- Predator

14 Study the information below @bout two populations of organisms.

+ C helps to control the ,pobulation of D.
= If the population of C decreases, the population of D will increase.

Which one of the following represents C and D correctly?

. C . D
M Herbivore ‘ Producer
(2) Predator Producer
(3) Prey , . Predator
4 Decomposer Consumer
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16 Study thefood chain below.
Grass —» Grasshopper — Praying Mantis —> Frog
If the praying mantis is removed from the food chain above, which one of the
“graphs.below shows the changes’in the other three population?
(1 (2)
. _ Iy
2 Number of \ Grass | Number Of_\_ Grass
“organisms ‘ orfgamsmst .- " Grasshopper:
CTE Grasshopper] = LT -
-omrrmms oo Frog L Frog
- i 5
Time Time
(3) 4 (4} I\
/ Grass / .Gtass
Number ofl. ____,,.--‘-f"":- Grasshopper Number of {.covo--2-— —ememvie-ia Grasshopper
S organisms |
org:flr)lsms ................... Frog -}  FTTTTeeeee Frog
-k -~
Time | Time
16" "Which of the following features allows a camivore to tear and kill their prey? _
A: Sharp teeth
B: Claws
C: Webbed feet .
(1) Aonly {2) B only
(4) A and C only

(3) A and B only
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Which of the following can be the adaptive features of plants to survive the
harsh conditions in a desert?

A: Needle-like leaves
B: Extensive shallow root system
C: Storage stems that can store water

(1) Aonly : (2)Aand C only
(3) B and C only @A Band C

Which one of the following adaptive features is cormectly matched with its
function? '

Adéptive feature - Function
Thick Afu'r coat | For fast gliding movement on ice
L()ng sticky tongue To catch prey from far easily
Layer of fat below the-skin "o camoufiage from prey
‘Waxy leaves To collect \;'vater on the leaves
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A camel has large padded feet to enable i to walk on the desert sand and to
prevent it from sinking into the sand.

Anthony conducted an investigation to determine this fact using blocks, P, Q. R
and S. The blocks are of same mass but of different sizes. He placed the blocks

inatray of plashcme He placed identical weights on the blocks as shown
below.

Weight

_Tray of
plasticine

He removed the wooden blocks from the tray and measured the dent created
as shown below. S

T 1‘_""-""‘ 1 dent created by W°°de"
. block

Which one of the wooden.blocks would. have created the greatest dent in.the.
tray of plasticine?

()P 2)Q

@GR “s

10
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20  Two birds, A and B, were kept separately in two cages as -shown below.

goads

saads

L

Jayden wanted to find out if the type of beak will affect the type of food eaten by
birds. 60 ml of nectar and 50g of seeds were placed in-each cage at the start of
the experiment. After two days, only the volume of nectar left was recorded.
Which of the following correctly shows the volume of nectar left at the end of
the experiment?

Volume of the nectar at the end of the experiment (ml)
A . B
') 40 - 20
) 30 50
(3) 50 . ‘ 30
@), 20 . 40

11
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“The following materials have been grouped according to their magnetic
properties. :

Magnetic Non-Magnetic -
Gold ' ‘ . Rubber
Iron ) Plastic
Steel ' " Wood

Which material is wrongly grouped?
(M lron " : (2) Rubber
(3) Wood (4) Gold

Amy carried out an experiment to find out which objects A, B, C and D are
conductors of electricity. The results were recorded below.

Objects | Bulbliightsup | Bulb did not ight up

A §
B N
C ' +f
D y -
1L
'l"-l

light bulb™ ————

object to be tested
Which objects can A, B, C and D be?
“ObjectA | ObjectB | ObjectC | ObjectD
(1) ~iron nail - silver spoon chalk - metal clip .|
2 metal clip | aluminium foil | plasticruler .|~ rubber
(3) | wooden ruler scissors .| - candle coin -
(4) | metalclip | goldring iron nail cardboard

12-
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23 Kevinwants to find out whether copper or steel wires can affect the brightness
of a bulb. Which one of the following variables must he keep constant?

A Material of wire
B: Length of wire
C: Number of batteries
D: Arrangement of bulbs

(1) Aand B only (2) C and D only
(3) B, C and D only (4YA,B,CandD

24 The diagram below shows four circuits with different arra ngements. The
_ batteries are identical in all the circuits. The bulbs in all four circuits light up.

i E 2
A B
I W W@
C b .
Which of the following shows the correct bﬁghtnes,s' of the hulbs?
Brightness of bulb o
Dimmest Medium Brightest
() D A B
@) D B C.
(3) B C D
(4) B A C

13
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25  Alice set up the circuit below. She was told that one of the objects A, B, C of D
in the circuit was an electrical insulator.

bell

bﬂx, , .
contalning—s-
batterios

%
.switch .)

When she closed the switch, she observed that only 3 bells in the circuit rang.
Which one of the 4 objects, A, B, C or D was the insulator?

(MA (2)B
(3)C @)D
26  Which of the following statements are true about friction?
A: It is'a beneficial force only.
B: It slows down motion.
C: It causes things to wear out.

D: 1t pulls all things towards the centre of the Earth.

(1) Aand C only. | (2) B and C only
"7 {3)A,Band C only (4) B, C and D only

14
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The circuit showed Bulbs B1, B2 and object X. In the following circuit, B1
lighted up but B2 did not.-

X B2

B1 and B2 were switched position as shown below. Again , B1 lighted up but
B2 did not. -

X B1 :

" From the observation, what could be a possible reason why B2 did not light up?

(1) The filament in B2 has melted.

(2} X is a non-conductor of electricity.

(3} The batteries are connected wrongly.
{(4) The bulbs are in-parallel arrangement.

15
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28  The diagram below showed how a spring was extended.

g

iron box

@\ magnet.

Which force caused the spring above to extend from 15cm to 18cm?

(1) Friction- ) (2) Gravitational
(3) Magnetic {4) Elastic Spring

16
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The flow chart below is.used to classify. forces A, Band C.

Gan the force act from a distance? No Does the force oppose the motion?
Yes
\ A , Yes
- No
Is it always a pull? > B
\ 4
C-
Yes
A

30

In which one of the followings all the 3 forces are identified correctly?

(-
(2)

(3)
4

A B _ c
Gravitational .- Magnelic. .Frictional
Magnetic Gravitational Frictional
Gravitational Frictional Magnetic
Frictional Magnetic Gravitational

Darren cartied out an experiment and concluded that as the mass of the
weights increases the length of spring increases. The spring he used in his

recorded the results in the table below.

- expetiment can extend to its maximum when a weight of 600g is hung on it. He

Mass (g} Length of spring (cm)
0 10 ‘
200 20
400 7

What will the length of the spring be when a 400g weight is hung on it?

{1y 15cm
(3) 30cm

{2) 20cm
(4) 40cm

End of Part 1

17
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31 Jane placed equal number- -of single-celled organisms into 2 peti
dishes, labelled, S and R. She left S in a dark cupboard and R in a bright
cupboard. She monitored the number of living organismas in both petri dishes
over a few days and represented in a graph as shown below.

A

Number of . From Pefri Dish S
cells present "

{a) What was the aim .of'Jane'S experiment? [1]

(b) Jane concluded that fight is not needed for the organisms to survive. _
Explain why. _ [1
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Joseph examined two plant cells under a microscope. Both cells were taken

from the same plant and he labelled them Cell A and Cell B.

s © & p U & o

@

°.0°°®a. @

Cell A | Cell B
{a) Which cell is taken from thie Jeaf? Explain your g‘,hoic'e. {1
(b) Why are the cells different in.shape ? @l
(G) State 2 reasons why cells A and B carry out cell division. 2
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33  The diagram below shows the head of a fish. .

(a) Draw arrows on the. diagram above to show the flow of water when a fish
takes in oxygen and givens out carbon dioxide. i1l

(B) Complete the tablé to show the parts of the body inVelVed in‘gaseous
exchange.

(2]

Fish Human

Part involved in
gaseous exchange
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34  The graph below shows Steven’s puise rate over a period of one hour.

Pulse rate A

0
10 20 30 40 50 60 Timefroin
(a) What is Steven’s pulse rate when he is at rest? : [1]

“(b)-Steven:started to jog at Point P. Explain why the pulse.rate increases after
that. . | 2]
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'35 Devi investigated the light inte sity and the number of plants in a pond.
- She drew the two graphs belo to provide information about her findings.

Light . Number of planis

A A

» N
Ll ; Lad

Depth of pond - Depth of pond

.Graph A shows how light intensity is affected by the depth of the pond while
Graph'B shows how the number of plants Is affected by the depth of the pond.

(a) Based on the graphs above, what is the relationsﬁip 'b.etween the light
infensity in the pond and the number of plants.found? ‘ 1

(b) Predict the rejationship between the number of plants in the pond and the
number of animals in the pond. kH

(c) State 2 reasons why the animals-are dependent-bn-m'e plants in the ponds.

1)




Rosyth School/P5 Standard Science/Semiestral Examination 2/2013

36 : Susan investigated the effect of two chemicals, Y and Z, on the growth of
duckweeds. She had three set-ups for her experiment, The results were

shown in the graph below.

Numiber of
duckweeds

-—. - W 8 -

Pond water only’
Pond water + Chemical Y

Pond water + Chemica! Z

¥

Time

{a) Which chemical was not suitable for the growth of duckweeds?

Give a reason for your choice;

Mt

(b)Which is the experimental control set-up? What is the purpose of it ? [2]

e e
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37  Read the following description of five organisims, C, D, E, F and G living In the
same habitgt.

« BothFand G feed on E.'

» Cis a prey.of D and a predator of G.

+ Cis the only omnivore.

{a) Use the information.above to.complete the food web. below.
Write the letters C, D, E, F and G in the correct circles. [2}

—(
Q\Oﬂ. .

(b) Name the food producer (C. D, E, F or G) in the food web above. [11

{c) Use the above food web to form a food chain which has 3 consumers. 11
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38  Study the food chain below.

Plant — Organism p—» Ladybird— Organism Q—> Bird

{a) State what Qbuld happen to popufations P and Q when there were
fewer ladybirds in the habitat and there was no change in the populations
of Plant and Bird. Give reasons foryour answer. 2]

Crganism P:

Organism : a

(b} Farmer Jo realised that his piants were being. eaten by Organ!sm P.

Suggest a way that he can remove the Organism P without spraying
insegcticide on'his plantation.

gl

39  Andy recorded the following information about & koala.

- The kealalives-in eucalyptus trées: If fias.a ‘dense wooly coat which
| protects it from hot and cold condiions. 1t gives birth and-carries its
baby inits pouch. The paws of the koala are heavaly padded alid it

has lorig sharp claws. It is.an herbivore and éats eucalyptus !eaves
it is not really bothered by predators.

(a) Why do you think the koala bear has Iong sharp claws?. [1]

(b) Do you think koala is a mammal? Support ybu_r choice. . - ' [11
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40  Four different types of plants, A, B, C and D, were ﬁlanted as Indicated in-the
didgram below. The arrow indicates the direction of flow of the river.

A few years later, the'same area was studied.and the locations of the 4
different plants were Identified and indicated i the diagram below.

(a) Based on the diagram above, state the method of seed dispersal for the
following plants: [2}

() Plant A; (i) PlantD:

The seeds of Plant B are disperéed by animals.

{b) What structural adaptation does the fruit of Plant B have in order to be
dispersed by an animal? (1]

(c) Give an exarple of Plant C. : f1]
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41, The circwt diagrams, A and B, below show 3 identical bulbs, X, Y and Z,
. arranged in 2 different ways. . _

Circuit A Circuit B
Describe what would happen to bulbs X and Z when bulb Y. in both circuits
is fused. : _ 2]
(i) Circuit Ax
(ii) Clrcuit B:

10
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42  Nelly wanted to find out if the number of batteries affects the brightness of a
bulb. The graph below shows the results of her experiment.

Brightness
of bulb

-

| | | | .
I ¥ Fa

1 T .

2 4 6 8 40~ Nuniber.of batteries-

(a) Describe the brightness of the bulb as the number.of batteﬂes increased
from 1 battery to 5-battéries. "]

(b) Why did the bulb fuse when the 6th battery was added? 11

i1
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43 When a boy threw a toy parachute from the top of the roof, within seconds,it
feli to-the ground. ‘

plastic sheet

weight -
(2) Name the force that caused the above observation. [1]
{b) How can we keep the parachute in the air for a longer time ? i1}
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An experiment was._camied out to find how the type of surface affects the
amount of pulling force. The force needed to pull the block across each
surface was measured and recorded. -

block of wood spring balance
force {pull}
# -7 —_——
ik
The results were shown in the table below.
Surface “Force needed fo move the',_lziilig"eck {N) -
Rough . co21 e
Smooth__|_ | 12
| '(a) What is the conclusion.of the experiment above? [11

(b) What force(s) is/are the pulling force overcoming in the above set-up? [1L

{c) What would happen to the pulling force if the mass of the block is greater ?
-Explain why. [1]

. End of Paper

13
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31)a)The aim is to find out if the single-celled lives better in the dark cupboard

than to the bright cardboard. _
b)There are more cells Ieft in the dark cupboard.

32)a)Cell A was taken from the leaf as it has chloroplast that is needed to

make food.
b)It is because they have different function.
c)To repair damaged cells and for growth of the plant.

33)a)

b)gills lungs
page 1 to 2 page 1



Answer Key


_34)a)H:s pulse rate is 70 when he is at rest.
b)H increases to supply more oxygen and more energy to the body. -

35)a)The more intensity is the Iight the more the number of plant in the pond.
‘ b)As the nhumber of plant decrease the number of animal decrease. '
c)The animal depend on food and oxygen from the plant.

36)a)The number of duckweed remain the same.

b)Pond water only is the control set-up. The purpose of a control set-up to
ensure the experiment is a fair test.

/D
\i"‘}‘G

b)E is the food producer.
c)E->G>C->D

37)a) F

38)a)P: There will be more organism. The ladybird is a predator to organism P
therefore if there is lesser ladybird there will be lesser predator to organism P.
Q: Organism Q decreases as there le less food.
b)Release more ladybird to eat organism P.

39)a)To climb eucalyptus tree with out falling.
b)I think koala is a mammal. Koala give birth to young and has two legs.

40)a)i) water dispersal it)wind dispersal
b)Large and hard seed. '
c)Rubber is a example of plant C.

41)i)All the bulbs in circuit A will not work.
ii)X and Z in circuit B will work.

42)a)The brightness of the bulb increased.
b)The filament get hat and melted.

43)a)Gravitational force.
b)Increase the size of the plastic/ decrease the weight.

44)a)The Rougher the surface, is the more the force needed to move the block.
b)Frictional force and elastic spring force.
c)We would needed more force to pull'the block. The more the mass the
more force needed to.

Page 2




	ROSYTH SA2

